1.) Вычислить:
[image: image2.png]2logs25 + 3log, 64




 2*2+3*6=4+18=22
2.) Решить уравнение:

а.) [image: image4.png]lg(x?-6x +9) = 2



;      

 ОДЗ:  х2-6х+9>0  (x-3)2>0  все числа
   х2-6х+9=100     х2-6х-91=0    D=400  x1=-7   х2=13
б.) [image: image6.png]2%%3 2% =112



;         23* 2х-2х=112      8*2х -2х=112    7*2х=112     2х=16    2х=24           х=4
3.) Решить неравенство:
а.) [image: image8.png]lg(x?-2x-7) >0



;
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[image: image12.png]


      ответ: (-∞;-2) (4;+∞)
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б.) [image: image14.png]352> 3



;      [image: image16.png]2>
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[image: image18.wmf]0
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ответ : (-∞;-0)
(За ответ дам 50 балов!!!)
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